B—20

A1aunan

NEUTRAL LINE

AN
ABCbhase LINE

A
L Mﬁuldnw
STREET LIGHTING LINE

oMY
PROPERTY  SIDE

NOTE

HUU 3 1A 4
3-PHASE 4- WIRE

SHALL BE INSULATED WITH PVC TAPE.

aytvesnoumyn

ASSEMBLY  NO o211

.
B
frunny
STREET SIDE
--\/{—r-
¥ ]
3 2
C. "
A
5 X6
i B
1 X112
8
S L
pad
o d | hee
87 * NEL)
! Ne——GY-0l  GY-02
i ., OR
¥ ol

4] Y v ° v v
NN ﬁkﬁﬁunu . aomnninotias aomunneidinimetuihniududsawmmy Py )

PG. CONNECTOR AND DEADEND CONNECTOR FOR INSULATED CONDUCTOR

Inordanrralal el nToina *1'1 A e e T
dnird N1 TWNNNN
1UIRINTTN b nnnnaﬂuuw
oi'ﬁuu Moy Y J Aumdirdwd 15 An. 2
fim g T aewons |
At AR —————— et uuuuien
R ¥ amRanuIRRHANUANAEITN o N, Y
g:::;ng:)qnaq P 94 FrFuindanwsng 2 4 wmdam 120
§d1mrun17en . -
Y : \ £TE POLE | wusined SAI-015/21047
o ﬁnj'anmnun SECONDARY RACK INSTALLATION ON 9m CONCR E .
e ———— FOR DOUBLE DEADEND  STRUCTURE X .




B—21

|

~
- madaenouiae
ASSEMBLY NO.

o2ll

Wy

umwfqdn
BILL OF MATERU—\L

INSULATOR SPOOL TYPE, LT TIS 227 TYPEB (CLASS 53-2)

A U R U Jrwu | idoya
ITEM DESCRIP TION REQ'D | MAT. NO

| WRMIMAYT M 16X200 WA + * lomozo2
| BOLT, MACHINE , M 16 X200 mm

o | MmnRes M X250 AN, fnfuimpeundn 12 W a® |
| " | BOLT,MACHINE, M 16X 250mm FOR 12 m CONCRETE POLE

, | win 4 x200 wn. HuunAy g

RACK, SECONDARY, MEDIUM PRESSED STEEL 4X 200 mm EXTENSION BACK
5 nnwnmah NON. 227 WUU A (WU 53-2) "

s | W ) ﬁwmua‘rmz!muuu WINMINATINTT
CONNECTOR, PARALLEL GROOVE, Al SIZE AS REQUIRED
Y
s | AemsmnedidmuAIteANuN  WIMNINNEINTT

CONNECTOR , DEADEND Al _SIZE AS REUJIRED

pve il nine 19 ww. (Wanwen 2 . Mo 90 ) Nen. 386
PVCTAPE |9 mm WIDE ( 2 m LONG PER POINT) TIS 386

I anefmruduin aus

FOR STREET LIGHTING INSTALLATION

M 16X 200 NH.
BOLT, MACHNE, M 16X200 mm

ARMIAAYA

| 01110201

RATIRYA M 16X250 4N, AnTuidieeunin 12 A,
BOLT, MACHINE, M I6X250 mm FOR 12 m CONCRETE POLE

l 01110203

fiduansen Anduansen wen.227 (WY 53-2)
GLEVIS, FLAT STEEL, FOR INSULATOR TIS 227 ( CLASS 53-2)

2 03130100

fgmﬂnm«m NOM. 227 WU ¥ ( JWUY 53-2)
INSULATOR . SPOOL TYPE, LT TIS 227 TYPE B (CLASS 53-2)

2 |03030000

A3 aosminmned ARnARAHIUMYSRNIHUN 25-95 4N, i
CONNECTOR,, PARALLEL GROOVE , DOUBLE _BOLT, AL 2595 mm

[ 02300102

POIHAINETIIIMUATOARIHUN 25— 35 NN,
CONNECTOR , DEADEND , Al 25—35 mm I

2 102310000

o | pve wd nfae 19w (Wamwam 2w dean) wen 3ee

I
or

PVC TAPE 19 mm WIDE (2 m LONG PER POINT) TIS 386
LN *mmnmmﬁwm%q Tfifndfnius M 16X200 aN. Y78 M 16X250 N, dwwm | o
ARG ReNUY  52X52X4.5 wh. dwau | M
NOTE ¥ FOR GUY ASSEMBLY, ADD ONE M 16 X 200mm OR M 16 X250 mm MACHINE BOLT
AND ONE 50X50X5mm SQUARE WASHER.
Hnen&on'rf'lddqu;s'm«m] qumminy
dridanTan nnumﬁmuw
P ST Y mmﬁwnﬁ 5. 8. 21
d“ W17 _ » i
’5#1 “wd g i ~ | uhuuuing.
dinbumen  Rdns AMAARIANTIINUIFIADUNTN 9 N, T .
Sindmey My dndudlarugie 2 A . | wrovilien.
{rmuntrehey 248 el f .
v'i'ln dhumnen } SECONDARY RACK INSTALLATION ON 9m CONCRETE POLE WULNER SAIZ0I5 /21047 ..
. & & FOR DOUBLE DEADEND  STRUCTURE el 2 eerbman_2_uNe
o ot




